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2A8H(KR)~14B(K) 1-2&F32HHREER

SHR 8 35 ~ 8 45 | 10 %
1FR 8 50 ~ 9 45 | 55 4
2[R 10 00 ~ 10 55 | 55 4
3R 1M1 : 10 ~ 12 05 | 55 %
NIFEFORFETHIR I HDIRE
2H22H(K) 5nEMEIRE+REZIIAER
SHR 8 : 35 ~ 8 : 45| 10%
1fR 8 50 ~ 9 40 | 50 &
2[R 9 50 ~ 10 40 | 50 &
3R 10 50 ~ 11 40 | 50 &
4R 11 50 ~ 12 40 | 50 &
BIKH 12 40 ~ 13 25 | 45 %
5[ 13 25 ~ 14 15 | 50 %
KiER 14 25 ~ 15 45 | 80 %
2H26H(B) H=EDER
SHR 8 35 ~ 8 45 | 10 4
HABEET 8 45 ~ 9 00 | 15 %
1R 9 05 ~ 9 55 | 50 4
2[R 10 05 ~ 10 55 | 50 %
3R 11 05 ~ 11 55 | 50 %
BARH 11 55 ~ 12 40 | 45 %
4R 12 40 ~ 13 35 | 55 %
508 13 : 45 ~ 14 40 | 55 %
6fR 14 : 50 ~ 15 : 45 |55 %
SHRANZERLIzE DB EDHEFEETT S
2A298 (K) ZFEARERH-SFERER-ZEXFIT
1284 3F4LE
SHR 8 35 ~ 8 45
KRG FE-ZAEEMB | LHR 8 : 45 ~ 10 30
BFEAERERN 10 40 ~ 11 00
&) | %47 [ 11 - 10 ~ 11 40
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